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| SIMPLIFICATION I

1. 56+7x(35-45+3)+4=7 (C) 620.5 (D) 556.8
(A) 1.6 (B) 48 10. Solve / 71 F¥1
(C) 40 (D) 8 6+6+6+6x6-6="7
2. What is the value of 4 x [3 + 4 x {4 x 3 + (3 x 3)}]? (A) 38 (B) 37
4x[3+4x{4x3+(3x 3)) FT A FTEEM? (C) 36 (D) 35
(A) 3 B)9 P 11. 78% of 450 + ?% of 250 = 441
(C) 12 (D) 4 _ = 450 FT 78% + 250 FT ?% = 441
3. Find the value of 10 - [5 - {6 - (5 - 4= 3)}}: (A) 45 (B) 50
10~ [5 - {6 - (5 - 4 - 3)}] F7 7T A F1_ (C) 30 (D) 36
(A) 13 B)9 " - 12. (B0 + 64) x (12964 36) = ?
() 10 ()12 (A)420 - (B)460
4. 108 + 18 x (55 - 35 £ 6)+ 3= B | (C)500 . (D) 450
(A) 96 "'(B 144 | 13 solverznt aﬁﬁm
(C) 18 S (D)120 ot 240+8%51254
5. [{(161 + (19 — 2) Y1) -3 =2 (A)3%40 © (B)3340
(A) 176 (B) 171 " . (C)3840 (D) 4040
(C) 172 (D) 174 ~. | “14:Solve thé following/Ferfrfara it 2t Fifvr-
6. Find the value of the following: ."'1800 ( 1% 24 +8x3-69)
10 + {26 — 15 x (20 — 5 + 2 x @] =7 (0)5 (D)4
(A) 189 (B)198 "~ 15. Find the value of/&r wr st $ifrr?
(C)189 (D) 198, 30-(3x4+15+3)+8x3+6
7. 154+ [30—{33 - (25— 176._'—- (4 x_é))}]-. A) 15 ®) 21
(A) 14 B)2 =Y g i) 47
(©)22 ke 16. 8432 + 937 + 260 - ? = 5605 + 713
8. (N =7 = (=9} =7 (A) 3211 (B) 4311
N-FF ) 2 (C) 3311 (D) 15947
EC) 28 " BT 17. The value of/ T 7T &:
9. Eof1216;=;ff? ST ST
1218 Fr2a2 =2
(A) 415.65 ? (B) 516.2 s e
(C)6 (D)3
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18.

19.

20.

21

22.

23.

24.

25.

26.

32 EQ 21D L J=9

(A) 8 (B) 2

(C) 32 (D) 16

5+5x5+(5x5)x5="?

(A) 120 (B) 10

(C) 130 (D) 50

81-[20+7x(30-3x9)] =2

(A) 40 (B) 20

(C) 30 (D) 0 o
.= 5 {-5-(-5-2)-5} = ?

(A) 18 (B) -18

(C) -15 (D) 15 :

Solve the following:

Frafafrrsram ey

(24372 + (27)2x 16+ 8=2 N

(A) 70 B o™ " '

(C) 162 (D) 81 9,

Solve./zT F¥

49+1331+121-72-5=2

(A) -27 (B) -17

(C) 17 (D)0

Solve the following:

et =7 2 74

M+ =M+ 1 x M =11=2

(A) 1 B)122( '\ &

()0 (D) 132

Simplify: 245 - [135 - {84 + 4 of 3 (11~ 12 + 3))]

T o 245 - [135 - {84 + 4 of 3- (11-12 +
31

(A) 110 (B) 100
(C) 90 (D) 120
Solve the following:
Fefertea = g fifsa:

80 + (16 + 2) + {[(6 x 5) - 15 x 2 + 4] — 12}

27.

28.

29,

(A) -62 (B) 2
oy -17 (D) 148
Simplify:/@7e 7

1800 + 10 x {45 + (17 - 2)} x 2 + {- 2(1 + 2)}
(A) 180 (B) 0

(C) 1074 (D) 114

fP=2+02+(02x2)-1x2Q=2-02+(0.2
x 2) = 3 % 2, find the value of .
TRP=2+02+(02x2)-1x2Q=2-02+
(0.2x2)-=x2%, ?ﬁ'%%‘l"ﬂ'lﬂ'il‘l‘cl‘zﬁﬁrql

(A) 0.5 _(B)1.0

(©)15 £ O-05

If P=0.3x 0.3%0.03  0.03-0:6 x 0.03and Q =
0.54, then-what is g equal to'?

7tz P =0.3x0:3+0.03 0.03 - 0.6 x 0.03 %7 Q

= 0.54, 7 gﬁmﬁtm@r%?
""(A) 4.5 ~ (B)0.45
(D) 0.135

. (C)4.05
A| 30, 163xwax

31.

If.3x +4..v?:""8 +9=x+ 3-1then find the value of x?

(A) 2 (B)=

(C) 1 (D) -
(24)7 - (187 =2

(A) 252 (B) 336
(C) 242 (D) 284
(36)% - (35) = 2

(A) 73 (B) 75

(C) 72 (D) 71
(25.732)%2 - (15.732)2=?

(A) 4.1464 (B) 41.464
(C) 414.64 (D)4164.4
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0.3*-0.2%

34. (254)2 - (2522 =? S3ir07 TV I T it ?
(A) 872 (B) 506 (A) 0.05 (B) 0.15
(C) 1012 (D) 984 (C) 0.51 (D) 0.5
35.32 x 32+ 1476 + 18 x 18 = 72 + 324 45, Solve /&= Frtor T
(A) 2000 (B) 2500 875x8.75-135.625+7.75x7.75="7?
(C) 3000 (D) 3600 (A) 3 (B) 1
36.10.5x10.5+75x75=?-157.5 (C) 4 (D) 2
(A) 256 (B) 324 46. Find the value of 2= 22 2 7P IR 0
(C) 400 (D) 484 _. l 1 — . : 515. sax515523§0 2;4 .87%314.87 Wﬁﬁﬁﬁﬁﬁl‘l’{
57 (2847 -(aa? _ - -4
, e ) (A) 200.19 (B) 201
A) 52 B)8 A% N (C) 83.073 (D).830.73
() ®) - 47 356% 356-2x 356x 1064 106X .106 _
(C)52.8 (D).4" . " .632% .632+2X .632X 368+ 368X .368- __“
3g, (256+132)7 +(256-132)° _ (A).0345 (B)‘0625
T 256x256+132x132 4 N ¢ - )
(A) 1 B2 (€).25 (D) .0765
(C) 388 J (D) 124 . | 48. Find the valueef 1093 x. 1093.
39, (89 +674)2-(se9 674)3 W | O \ ' 1093 x 1093 wmmfﬁﬁm
(A) 15:?39 o I(B) 195 " 4 (A) 1194649 < (B) 1162481
©) - -~ (C) 1424649 (D) 1428481
| ,a (3654)2-(3.46)F
40, (375 X375 X375 +225 X225 ><225) , il 49. — v -
375 375 +225 x225 —375 x225) (A) 3.308 (B) 4
(A) 300 (B) 500 " (C) 33.08 (D) None of these
(C) 150 (D) 600 5g. 23X23x23-1 _,
b (375 + 225) _: 600 \ 2.3x2.342.3+1
41 (158X158+158X153+153x183) _ ,, (A)0.3 (B)1.3
(158x158x158—153x153x153) - ; \ ¢ (C)2.2 (D) 3.3
(A) - (B) 31— U 5q 65x47465x53 _,
D)5 b o " 13x7.9-13%69
© 3 ©) w (A) 3.9 (B) 39
42 (216+144)% — (216—144)% ” g
: (432x288) =" (C) 34.45 (D) 50
(A) 72 (B) 4 52.1.07 x 65 + 1.07 x 26 + 1.07 x 9 =2
(C) 1 (D) 360 (A) 10.73 (B) 10.7
5.47x5.47 - 453x4.53
43 — =7 (C) 107 (D) 1.07
69842x69842—-30158%30158 _
(A) 0.94 (B) 10 53. ——— =
(C) 4 (D) 1 (A) 100000 (B) 39684
44. Find the value of =22 7 (C) 69842 (D) 30158
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(0.06)%+(0.47)%2+(0.079)?

54. (0.006)2+(0.047)2+(0.0079)2
(A) 0.1 (B) 10
(C) 100 (D) 10000
55. 7+ 84 = V625
(A) 25 (B) 26
(C) 125 (D) None of these

56. Which of the following numbers is the square root
of 357217
o=t ® & Frw-+1 "= 35721 maﬁsﬁrg’?

(A) 171 (B)201 <
(C) 179 (D) 189

57. Which of the following numbé'_r_s ..i"'s‘»the square root

of 60847 LYy N

ﬁwﬁ@raﬁﬂﬁmeom aira'ﬁ'q?f%‘?
(A) 68 (B) 78 m
(C) 72 (D) 79 GO0

58. Which of the followmg numbers is the square root
of 16129?
e & 7 w1 @%=ar 16129 FT1 [T 272
(A) 123 (B) 133
(C) 127 (D) 121

59. Find the number of digits in square root of 21025

21025 & A | 0 HT 7T aaﬁn O
(A) 4 (B) 5 4% e
60. Find the number of digits in squﬁare root of 9604
9604 ¥ et ¥ st Y wEAT FAT
(A) 2 (B)3
)1 (D) 4
61. Find the value of 15§ X 16%.
15§x 16§ﬂmmeﬁﬁm
(A) 255 2 (B) 256 —
(C) 64 — (D) 192 =

2 y
62. Find the value of (215)" +(223) .
(21%)2 + (22%)2 FT 9T 57T £
(A) '76421—;; (B) 268%
(C) 968— (D) 649 =
63.1f 4624 =68, then 46.24 ++0.4624+
V0.004624 = ?
afs V4624 =68, AT  /46.24 +/0.4624 +
\0.004624 =
(A) 7.458 (B) 7.548
(C) 7.648 (D) 7.854

64. Find the value of:/FT |1 ST FferT]
V150-54-v24
(A) 75 e
(C)0 | (D) 2

65. If v2 + v’x = wf3 then the, value of x is equal to:
af v2 4 ¥k = ﬂﬁ,,ﬁrxwmwé‘?

(A)5-2V6 (B) -2V6-5
. (©)5+246 (D) 246 -5
{861 VIFE =12, then (0TI
N qﬁ{144 =128 H-T(ﬁtmlgw)
" (A) 0.0012 (B) 0.001
"~ (C) 0.0001 (D) 0.012
" 67.1/0.059040 =
(A) 2.43 (B)24.3
(C) 0.0243 (D) 0.243

68.1f VO = 3, then V27 =+ V9 =2
TR0 =38 V27 +/9="?

3
(A) 3 (B) B
(C) 3v3 (D) V3
4/0.0196 ;

69. T = 0.2, then the value of K is-

—”0?(1% = 0.2, 9T K T 919 &-
(A) 4.9 (B) 0.7
(C)0.49 (D)7
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70. If /1296 = 36, then the value of +12.96 +
v0.1296 + +/0.001296 + +/0.00001296 is-

gf V1296 = 36 ¥, AT V12.96 + 1/0.1296 +
1/0.001296 + +/0.00001296 T HTH &-
(A) 3.9996 (B) 0.39996
(C) 39.996 (D) 3.6996

71.1f a = 5 + 2/6, then what is the value of
(va-3)"

a&a=5+z¢e@,a(r—v?)mma¥amg?

(A) 2V2 B)3v2 |
C) 243 3\/_

72. Find the valuefm’-i'ﬂ'l'rr%“lﬁﬁ'f
/900 + +/0.09 + 0. 000009

(A) 303.03 < (B) 3030 3
(C)3.0303 (D) 30.303 apth
73. Jﬁ +14 = 25 ) & b
(A) 11 : ‘(B) 13 v
(C) 12 D) 14
74. The square root of M is-
(3) (%)
) i) e G
()~ (dr) ’ 7
(A) 5— (B) 75
(€)1 (D) 17
75. The square root of 4a® + 4at§ + bZis=
4a*+ 4ab + b AT TAGAE-
(A)2a+b (B) 2a%b
(C) 2a + b* (D) 2ab

76. Which of the following gives the correct value of
V2 ?
oot § & F1 V2 FT Jal 71 991971 2 ?

7 13

OF ®)2
(€)= (D) 22

[a &

78.

79.

80.

Solve / & F7¥ : 3\;\/;—.,.;?
3 4

(A) gl (B)z
(O (D)2
The value of /% will be-

0.081x0.484

o00eaxaas TV T ETT-
(A) 0.81 (B) 0.99
(C) 64 (D) 25
On subtracting (78)? from the square of a number,

the answer is 6460, then what is this number?

@H@T%aﬁﬁ@r(m) ﬁaﬁwm&ﬁ@w

FAEHETFIR? \

(A) 109 ®) 112
(C) 11 . (-D)115
A student group decided tocollect as much money

per member of the group as the number of
members. If the total amount collected is Z 28.09,

~“then the numb’éf-o’f members in the group is-

- 81.

82.

e et wgE F wEet i e F avey 660y F 9w

. T 7. 28.00 2, A1 g # At A A 3
L(A) 4.7

(B) 5.3
(C)6.3 (D) 4.3
By what minimum number is 2744 multiplied to

make the number a perfect square?

T wFaw |5 |/ 2744 FT IO FA I IH HE@AT
TF T A EAT?

(A)5 (B) 7
(C)8 (D) 14
What is the number whose square is equal to the

difference of the squares of 75.15 and 60.12?
7w -t & e a3 75.15 @i 60,12 3
F AT F AT 2-
(A) 45.09

(C) 47.09

(B) 46.09
(D) 48.09
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83. Find the least number which when subtracted from (C) = (D) 5
1300 becomes a perfect square. 89. \/24 +05+1++v18+06+6=
T AT HeAT a0 59 1300 # 7279 97 78 07 9 (A) 13 (B) 15
T 0 (C) 11 (D) 17
()2 ®)3 90, (&3 + VZ52) x (V75 +V78) = ?
(C) 4 (D)6 (A) 16v7 (B) 441

84. 2904 is multiplied by which smallest number so () 21 (D) 21v7

that the resultant number will be a perfect square 91. Which of the following numbers is not a perfect

2904%%&@&%@??3@1%@%3@% cube?

7E T A A I ? . o et & & et wwer v O 7 T 22
(A) 2 @11 HYW @ (A) 64 (B) 216
(C) 6 0)3 PN, ¥ (C) 243 (D) 512
85. A man plants 7569 orange t_réé"-in_ .r-jis--garden and 92. Which of the followmg numbers is not a perfect
he arranges all these treé's."'in this way that tﬁ'e cube? ! '
number of Ilnes IS equaJ to the number of trees 1n ﬁ;‘%ﬁﬁ ﬁﬁﬁwﬁw EH'-"@ %')
one line. How many Ilnes are there in the gal‘den‘? ‘I " (A)3EEN -, B)625

T TR AT AT F 7569 7T F UT AT & 9T (C) 125 © (D) 729
ﬁWWWWﬁ%mﬁmﬁﬁqﬁﬁﬁ 93. The cube of 1017is —

7% By o O F A § A At gy [ 1019 TE R A
7o 67 @ 1020301 (B) 1130301
(©) 85 D) 83 5 (Q) 1000301 (D) 1030301
’ N B 3 H
86. Which of these numbers is not the _sum of two™ %.T--The vl ar 207 oo s
£ 20° FHT =T AT TATH-
e a A) 8000 ml (B) 20000 ml
ml. m. ml. m.
<t &y et s it gw (
(A) 41 ®) 13 O (C) 2000 ml. m. (D) 80000 ml. m.
b 95. The sum of the cubes of the numbers -28, 49 and
EC) 23 (D) D) 37 - ) -21 is equal to -
87. ; part of the square root of which number is equal 228, 49 T 21 % T FT AT T 272
to 0.005? (A) 81256 (B) 84196
. 1
ToeT veart = =t 7 - 9T 0.005 272 (C) 86436 (D) None of these
(A) 0.0025 (B) 0.00025 96. The sum of the cubes of the numbers 20, —14 and
(C) 0.015 (D) 0.000225 —6 is equal to -
gg, Y2EW3), VAUT . 20, —14 3T —6 F =1 FT TIT FIT 272
- A) 5040 B) 4820
S ® 2 o~ ©)
(C) 4580 (D) None of these
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97.

98.

99.

100. Find the difference between largest and smallest

101.

If the cube of a number is subtracted from (153)?,
then the number thus obtained is 1457. Find the
number.

e PRl 57T 3 =9 F (153)2 | T2 ST 8, 91T
T TTCT F=AT 1457 21 F=AT FT T4G7 F0

(A) 18 (B) 16

(C) 28 (D) 24

If the cube of a number is subtracted frorn (121
then the number thus obtained is 8809:. Flnd the |
number. 5

T2 ey o 99 7 (121)2 @rmm% E?rm
THHTE IToT H=AT 8809 2 ﬂwmwmﬂvl

(A) 14 (B )16

(C) 18 (D) 19 Y
If the last digit ¢ of the square of a number is- 1 then

what will be the Ias‘t digll of its cube? © -, \
7f% et e o 7 SR o 1 & a‘rmﬁ?wm
sifaw s fraer grm?

(A) Only 9 B)1or9

(C) Any odd number (D) Only 1

integer whose cube is equal to itself:”
Hﬁ%ﬁ%ﬁ?ﬁ{ﬂﬁ?ﬁ%aﬁawmﬁﬁm ﬁﬁm
o T % FET 8

(A) -1 @2 L |

(€)1 oo — )
If the sum of a number is dividéd:-bix its square
and the quotient is subtracted from that number,

then the number obtained is-

Tz Fft J=ar % a7 v 2w 3 7 Ao B
SATT 3T ARTES FT I HEAT T T2TAT [T, q7 ITH
(A) Same number (B) Zero

(C) 3/2 of the number

106! The simplified value of [(0.111) +

(D) 2/3 of the number

102. The sum of a positive number and its cube is
1740. What is the value of the number?
T AT HEAT T9T 395 99 FT 407 1740 21 Fear
=T | AT 82

(A) 16 (B) 14
(C) 8 (D) 12

103. What will be value of (45)* + (41)* = ?
(45)% + (41)® =T AT =T ZOIT ?
(A) 160046 (B) 150036
(C) 80023 (D) 180256

104. What will be value of (5.5 = (4.5) = ?
(5.5)° - (4.5)° FT AT wgrfrr 9
@1 [ ®) 75
(C)7425_ - | (D)75.25

105, What will be'alue of (2.5)° - (1.5)° = ?

(2:5)° — (4,57 =1 7T FT ZI ?
A1 (B) 12.25
NCy22.25 (D) 18.75

(0.222)p* -
(0.333)* + (0.333)* (0.222)3] is -

[(0.111)? + (0.222)° — (0.333)? + (0.333)* (0.222)7]
AT A &-

(A) 0.999 (B) 0

(C) 0.888 (D) 111

107.1f (13 + 22 + 3% + 43 + 53) = 225, then the value of
(22 + 4% + 6 + 8% + 10°) will be-
TR (13+ 23+ 3+ 42+ 5% =225 fRgrar, ar (22 +
43 + 6° + 82 + 10%) FT /T 201
(A) 450 (B) 900
(C) 1800 (D) (225)°
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108.1f 12 + 23+ 32+ ... + 10° = 3025, then 2° + 43 +

12+ 23+ 3+ ...+ 10° = 3025 fa=r 21, 77 22 + 4°

+ 6+ ...+ 20° FTET ZAI-
(A) 6050 (B) 9075
(C) 12100 (D) 24200
109. 99 x 21 - /7= 1968
(A) 1367631 (B) 111
(C) 1366731 (D) 1367 -

110. The cube root of .000729 is -

.000729 T 77 qe £ - |
(A).9 ®) .09 :
(C) .009 (D) None of these
111. \/333+W+ 19 -
(A) 21 (B) 18
©7 NCE @ N
112. /-2300 x U5290 h | v
(A)-529 (B) —270
(C) 230 (D) —230
13,2 . [0, 3155 =7
(A)7 (B) 13
(©) — 0)
14.7a— =2
(A) 12 ®1%
(C) 13 (D)2
115. V000064 =?
(A) .02 (B) .2
(C) 2 (D) None of these
116. 2332 -3¥4 + Y500 =2
A) 26 (B) 3vZ4
(C) 6V4 (D) 916

w24
(C) 4,8
121.1f p =100, then 3/p(@®> +3p +3) + 1 =2

117. Cube root of 74088 is 42, then the value of
{/74.088 + {/0.074088 + 1/0.001764 is equal to-
74088 T F7HT 42 &, AT Y/74.088 + 1/0.074088 +

10.001764 T 977 F<Ta7 &
(A) 4.42 (B) 6.48
(C) 5.04 (D) 5.42

118. The value ofi?lﬂ is:
The value of —% i
(A) 164 (B) 152
(C) 189 (D) 156

119, (32) + (79)° - (111)=+3x32x79x111|sequa|
to /¥ FTET § ) N
(A) 10000 (B)0O-
(C) 30@07 (D) 1

120. A pairin whlch the square of one number is equal
" to the cube of the other number is.
THT T AT TSETH U HeqT 7 a9 gaT JeaT
W%Wﬁi%l
(B)3,9
(D) 5, 25

R p=100 2, AT Yp(P*+3p+3)+1 =7
(A) 99 (B) 1000
(C) 101 (D) 100

122. The smallest number in which the product
obtained by multiplying 54925 is a perfect cube,
is-
g FrEr T FrET T, SaH 54925 ¥ IO #7307
ST TR T T 9 2, B
(A) 2 (B)3
(C)5 (D) 6
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123. What is the smallest number to be added to 491 | 130. 625 =+ 625+ 625—+ 625 + 625~ = ?
so that the sum is a perfect cube number? (A) 3375 (B) 3127
491 T FIH FIET FIAAT HEAT AET AT, AR TRTHA (C) 3105 (D) 3247
W- 1 1 1 1 21 11
O e S T g Bl atat e a1 %%
(A) 25 (B) 19 A2 ®)=
10 33
L et . © 3 ©) %
124. The smallest positive integer n, for which 864n is 132, (1 _%) (1 _%) (1 "é) ______ (1 o ;T) =
a perfect cube, is — ' ) 2 ®) 2 =
TqEH T gATewT T N, ﬁm%ﬁ‘q&&n@fﬂf. B g
w €)1 ()
‘E|T-|'%' % , T 4 25 3 F . 25
©3 @4 A0 &P
125. Which of the followmg numbers is a perfect (€ 0.9 y - ('D) 0. 09_ =
3 5 % ", S 15
squares as well as @ perfect cube? W 134 o+ g R o _‘" 452 toaztaet
ﬁmﬁ@aﬁ@rfmﬁmgﬁaﬁaﬁ%aﬂwﬁw ot =2
+ff? L & " 3 _ Ty 99
N & B Ao — N (B) 15
343, 125, 81, 729 > A (Cy =2 - (D
(A) 81 (B) 125 : S L. oy s 1
0135:(255) [3-5) (1 -3) - (1-55) =
(C) 343 (D) 729 N *, 7 -
126. (1 -15) (1-3)(2-3) - 1(1 =" _ W D) -
A 75 B) 35 ' & iy YE g ;
136/ (1—=)(1—=)..... 1-—=)(1——) =7
(C) 1 (D) 0 ( 522) ( 32) ( 194)( 102)
127. Solve the following. ) 12 B) 2
e © 3 ©) 7
Ny 2 5) (48] - HlreD 1l L .
{1_1} {1__}'"{1_1} {1 }"2 15 (l+2)(1+3)(1+4) """ ( +1no)_7
(A) = B)0 — 3 | (A) 52.5 (B) 40.5
() — = (D) = (C) 50.5 (D) 101
1 3 5 997\ _ 1 R
i2.(2-5 (-9 (2-9) (-2 > g o 3y
Aoss (B) 5o - =
(A) 555 599 ( )E (B)—
(C) 10% (D) None of these (C 12) P
20
129. 5552 4 5552 + 5552 + 555+ 5552+ 5552 =7 1 o
&) 37330 7 7 @) 33;1 7 7 139. (m o7 T 7x0 Tioxas T 13><16) =0
1 3
C) 3357 D) 3333 » 1 ® -
(C) (D) ©) = (D) L
16 7280
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140. 1+m+4><32 4x33=? (A) 6 (B) 4
(A) = (B)> (©)9 (D) 2
+1 -1
© 5 (D) None of these 149.16(2) = ()" thenx =2
1 1 1 - x+1 x—1
141. (22-1) ' (#-1) @ (62-1) ' (202-1) ? RIS (%) = G) Jarx =9
9 10
A ®) % (A) 2 (B)-1
10 1+
(©€) 5 (D) 2—11 L (C)0 | (D)3
142-‘1+ +_+ +_+E+§+5"‘%"‘m+_ 150. If%=39, then find the value of m?
m B o afy 22227 _ 39, Jt m T AT S A
(A) '15 (B) E (A) 5 (B) 7
143. Fmd the value of the exgressuon (1 + )(1 -4 151. Find the value of ?.in the ‘followmg’?
l)(“") (1+_1) oy O ﬁwﬁ?vmmw
(1+3)(1+3)(1+3). (1+— = AT 612 x 367 x 302% x 2513 = 305
s AR (A)26 o (B)--{_?_e.7
0O Q@B Ay O o
©) (1 i 1) (D) ( % ) . _ \ 152. If /5" = “5,-then fl T ?
n s n—1 v ‘ = ey
144. Find the value of the following? TRV =51 -cﬁ =
3 F7 T ST i A4 (B)S
SN ST TN TR S . [, (Ch2 (D)3
2X4  4X6 = 6x8 48x50 1. 452 g ox o gy+1 Y. . a9
(A) 0.48 (B) 0.42 153If 2 =4Y"" and 37 = 3"77, then the values of x
(C) 0.46 (D) 0.24 ' and y feSpeCtiVQiy are:
145. (14+2) (1+ =) (1+=5) (1+=5)=2_ T 2= T 3V =3, A x ATy F
(A)1+-+ B)x+4 &
© 1 D) X+4 (A) 16,7 (B)-16, 7
. T @, (©)-16, 7 (0) 16, -7
‘EA))S‘ =1 5 25_ — 154. If /3™ = /6561, then the value of n is
©125 (D) 625 Tf= “6561’€r;im§
147 {(~2)2}" is equal to- ) (B)
(« 2)(_2]}(-2) s (C)8 (D)4
155. If a®* = b, b? = ¢, c*? = a then the value of xyz
(A) 16 (B) 8 ”
(C) -8 (D) -16 '2 ) "
148. Find the value of n in given equation. W a** =b, b =c, ¥ =a T XYz FT AL
oo o T ® n A AT s A (A) 1 (B)8
271.5 % 91.25 = 35 == 31’1 (C) O (D) %
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156. :S)(Z}:—l %%3): @g;l :h:: fir:r t:; v:_:e q:l X.
e x(z) =(3) dATx
(A) 12 (B) 5
(C) 6 (D) 0
157. What is the value of x in the following equation?
Tmfertae s & x &7 919 #7497 872
32x+1 _ 3x _ 3x+3 _ 32
(A) 3, -1 (B) 4, -1 o
() 2, -1 (D) 4, -2 ' =
158. Find the value of (2)  x ()" = (@) "2
B <) =@ mem A i
(A) 5 B)S.
(C) -2 D)3
159. Find the value__of;—;:-,_ N
1 R, G o )
(A) 75 (B) 73
© 755 D) 77
160. Find the value of the following?
A= =1 "1 5 fifE?
(%)—20[]8 % (%)2{]08 % 2020
(A) 0 (B) 220
(C) 2020 (D) 22208 W\ M
161. If (3) (37) = 9 and (25%)(5%)-="625, then what
is (X, y)? “w— _ |
TfE (3%) (3) = 9 % (25%)(5Y) =625, 7T (X, y)
T2
(A) (2, 4) (B) (2, 0)
(C) (3, -5) (D) (1, 2)

162. Choose the number that should replace the
question mark (?) in the following equation.

‘l MATHS BY SAHIL SIR &|

ol o & gemam=s G (7) #
TTAEATIO FT ATAT JEAT FT F97 HI0)
4775 + 47312 x 4773 = (V&7)'
(A) 2.5 (B) 5
(C)6 (D) 4

163. If 2538 x 5%2 + 554 = 25% then the value of x is:
Tf% 2538 x 542 4+ 564 = 25% Y X FT AT &:

(A) 2.7 (B) 1.2
(C)2 (D) 1.4

164. If 2* = 4Y*1 and 3Y = 3*~%, then the values of x
and y are:

T 2% = 47+ and 3¥=§x'9, T x #Ty FAH
(A) (-16,7) (B) (16, -7)

i (©) (7, 16) (D) (16, 7)
3} 165G Samy
nF (B) 3
(©)3v (D) 32
166, (593222
Sk ®) 5"
L, )5 (D) 5*
167/32° = 2
(A) 3¢ (B) 3
(C) 32 (D) 3°

168. If (6) ¥* + (8) V* = (10) V%, then the value of x is-
7 (6)V* + (8)VF = (10) VE &1, 77 x FT T &-

(A)8 (B) 2
(C) 16 (D) 4
169. The value of —— + —— + ——is
(216)"3 (256) % (32)°5
L 4L g aramh

(216)"3 (256)"% (32)°5

(A) 102 (B) 105

(C) 107 (D) 109
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170.

1.

172.

173.

174.

175.

176.

The smallest value among -0.2, (-0.2)
and (-0.2)* is-
0.2, (-0.2%(-0.2P

2 (-0.2)°

T (-0.2) F & T FraT 7T

2=

(A) -0.2 (B) (-0.2)

(C) (-0.2)° (D) (-0.2)*

Find the compound root form of v/1350 .

V1350 1 fafam Fooft = s Fifsmn -

(A) 146 B) 13V6 it
C) 128 D)15v6 .~

If V3 = 1.732, what is the ___ap'b"réscimate value

zri%f-17323‘ra‘f ?ﬂm:ra‘wwﬁmﬂﬁ‘m?
(A) 0.617 (B) 0.313 ,

(C) 0.577 (D) 0173 B

If V2 =1.4142, then thé value of /s~ )

T2 V2 =1.4142, a‘rm-ﬂm@?ﬁ-
(A) 1.5858 (B) 4.4142
(C) 3.4852 (D) 3.5858

If :"f": a + b\/3, then 'a' is equal to-
R Dbt
(A)-6 (B) &

(C)-11 (D) 114 _
Arrange the numbers in deSCendlng order—
AT F A = ﬁﬁnz
2V11,4V3,3V5,5v2

(A) 5v2,4v3,35, 2V11

B) 3v/5,43,5V2, 2v/11

C) 4+/3,3V5, 211, 5V2

(D) 24/11,4+/3,3V5,5v2

V32-418
Simplify: —— v'_+ \;3

Ao i T

17T

178.

179.

180.
|81
182.

183.

(A)7 (8)=
VZ
(C) = (D) 2v2
‘ﬁ‘r |s equal to-
v" +v"_
= ‘Ew -
(A) 6 + /35 (B) 1
(C) 6 —+35 (D) 2
2 22v2V2 =7
(A) 22 (B) 2=
3 29
(C) 25 D) 2x
P e
2J2v2vz=2
A2z (B) 2ie
@z 0 @
If /6 = 2.45, the'h what is the value of ﬂ ?

FfF /6 = 245€r ??r WWﬁﬁﬂT%"?

Ao 271 (B) 0.272
A ©o. 972 (D) None of these
: Flnd the value of—v,= -
" 3":,_ T HT ST HTor0-
(A) V5 (B)S
(C) VIO (D) 2T
Find the value of ji?
:,*i T | ST HTora?
A)2-3y2 B) 3W2 -2
C) 3v2 D) 3v2 + 2
What is the value of ?J'i
% T HE F7 27
()25 (B)2
€2 (D) 25
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184. Find the positive value of le +12 +/12 +
J12+\/12+ VIZ + - T G T ST FHIer

(A) 12 (B) 2
(€3 (D) 4

185. Find the positive value of J6 +V6++6+ -
J6+\/6+ 6+ - waﬂmmmﬁﬁm

(A) 6 (B) 2 .G

(C)3 (D) 4 b
186. Find the value of Hj: + ;? V &

1+§+ 1+§Wﬂﬁmﬁﬁﬂz b

(A) -4 (B) —2\/—

C) 23 (D)4

187. Solve the givgn\equé._ti‘oh-?_

fimr ey exefieror . g A . --;_';_2.._,;;.

3+V8 | 3-vE | VB-1'_3,
3—5  3+J5  4E+1

CRe>

slon|e
QINE | &

191. 56+J56+J56+\f56+\i--- i =

(A)7 (B) 8
(C) V56 (D) 4
192. m is equal to-
V8 — 2V/15 avmaw &-
(A)3 -5 (B)V5—+3
C)5-V3 (D) V5 +3

193. The value of ‘] 5 5 -5__-5 :‘L'. B, §5-

W1 ) ®)2s
. (©)5 ~ (D)25

(A) 17—/5 (B) 13—/5 |
® 2 194. The value'of |4 /444 ... ... is-
(© () 12 -
188. Find the vz::;z: ;I:l: following J4’4 A4 FTHIT B
248 | 25 V5-1 Y ()4
2—+/5 zzﬁ VE+1 e
“By5 - (C) 2 (D) 16
(A) =2 (B) ==
oy == 0) 2L _.
2 o ‘w_,_,,. . 195. If x+4\/x+4 X+ 4vVx+ 4 ... = x, then find the
B \
189. Find the value of \r_ﬁ o J_ o
. T T ST o end
r—r Ve—Vz  Ve- r
\/_+\/_ \/_—\/_ Ife x+4Jx+4\fx+4\!x+4...=x"'Q"T,H"]'XEFF
C) 5v3 (D) 1 T AT
190. If ji:i‘f; a + b+/6, then which of the following (A) 4 (B) 3
will be the values of a and b? (C)2 (D)5
jj_zii,‘f_z=a+b\/€,aaawb$rmﬁwrﬁ * % %
T H B2
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| SIMPLIFICATION SOLUTION I

1. (C)56+7x(35-45+3)+4
56 + 7 x (35-15) + 4
56 +7x20+4=8x5=40

2. D)4x[3+4x{4x3+(3x3)
=4 x[3+4x{4x3+9}
=4x[3+4x{4x§}]
=4x[3+4x‘-‘]
_4x[ ] 4x1=4

3. (A)10-[5-{6-(5-4-3))] <~
=10-[5-{6- (2N |
=10-[5- {6+ 2}= 10" [3]
=10+3=13

4, ()108—18x(55 35 5) 3=x
6% (55-7)+3=x
6x48+3=x
96 = x

5. (A) [{(161 + (19 - 2) + 1)} - 3]
= [{(161 + 17 + 1)} - 3]
=[179-3] = 176

6. 10+{26—15x(20—5—2x(7 5)]7"

=10+ {26 - 15 x (20 - 5 2><2)}

=10+{26-15x 15}
=10 + {26 - 225)
=-225 + 36 = -189

7. (A)154+[30-{33-(25-176+ (4 x 4))}]
=154 + [30 - {33 - (25 - 176 + 16)}]

=154 + [30 - {33 - (25 - 11)}]
= 154 + [30 - {33 - 14}]
=154 + [30 - 19]

=154 + 11 =14

8. (B)(-7)[44+{7-(4)]]
= (7) [44 + {7 + 4}
~en [2]
=(-7)x 4=-28
9. (D) 1218 FT= T2 =1218 x I x>
=172X1% - 556.8
10.B)6+6+6+6x6-6
=6+1+36- 6-37
11. (D) 450 x ==+ 250 X =
351 +5?’”= 441"
= = 441351
x =¥=’> 36
2. (D) (800'+ 64) x (1296 =+ 36) = 2=
= 450 o

41

13.(C) 240 + 8 x 512 + 4

= 30 x 128 = 3840

|14, (A) 1800+ (11 x 24 + 8 x 3 - 69)?

21800 + (11 x 3 x 3 - 69)?
= 1800 + (99 - 69)
= 1800 + (30)2
= 1800 + 900 = 2
15.(D)30- (3x4+15+3)+8x3+6
=30-(12+5)+8 x>
=30-17+4
=34-17=17

1296

36

16. (C) 8432 + 937 + 260 - x = 5605 + 713

9629 - x = 6318
x = 3311

17. (B) 3+[3 x {3 - (3 + 3) + 6}]
=3+[3x{3-1}]
=3+[3x2]
=3+6=9
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18.(B)32+2+2+2+2
=32xYexYaxVax¥
=2
=5+5x5+(5x5)x5
=5+5x5+26x5
=5+5=10
20. (A) 81 =120 +7 x (30 = 3 x 9)]
=81-[20+ 7 x (30 - 27)]
=81-[20+7 x 3]

19. (B)

27.(C) 1800 = 10 x {45 = (17 - 2)} x 2 + {- 2(1 + 2)}
180 x {45 + 15} x 2 + {- 2 x 3}
180 x3x2-6
1080 - 6 = 1074
28.B)P=2+02+(02%x2)-1x2
=2+02+04-1x2
=2+32-1x2
—2+——2_l
Q=2-02+ (0.2x2)—%x2

=81 -[20 + 21] =2-02+04-1/2x2
1 1
=81-41=40 =2 —g—~1=g
21. (D) = - 5 {~5-(-5-2)-5} P/Q=%=1
=-5{5+7-5} : 4
5 13 i 29.(D)P=0.3%x0.3+0.03%0.03-0:6x0.03=(0.3-
=— = 1 ;
22. (C) (243){ }27) 16 -8 | 0.037 2827
! 2 x
(243)2x2-' o Q= 054 3
P " ! P 0272 _2r
(:2 5 = e |—U 135
_(?) X2 30.(D )=>3x+4><8. 9—x-3 1
= (9F x 2 . _am
=g 2 162 sxs S
. 24
=49+ 11-77 : 42x6 2
=49 -66 =-17 2 =252
24, B)M1+11+11+11x11-11 32. (D) (36 + 35) (36 — 35) =
=11+ 1+121-11 o
=1+121 - 2 =71
- 122 gl N —
4 R i + i 2 - 10. =
25.(A) 245-135-{84 +4 of 3- (11 =4)}} ©)( ) ( )
: =7
245 - [135 - {84 + 12 - T}] 41464 x 10 =7
245 - [135-{7 - T}] ?=414.64
245 - 135 5 110 34. (C) (254 + 252) (254 - 252) =
26.(B) 80+ (16 +2)+{[(6x5)—15x 2+ 4]-12} 506 x2="7
80 = 8 + {[30 — 30 + 4] — 12} 2=1012
10 +{4-12} 35. (B) (32 + 18)? = (50)2
10-8=2 = 2500
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S = e

e e o e —u.-.-_.__-_

36. (B) (10.5 + 7.5)2
= (18)2 = 324

37.(C) 28.4+24.4 =528

(a+b)? +(a—Db)?
8.B) =—vwr
_ 2(a2 +b?)

T (@%+b?)
(a+b)>—-(a-b)> 4ab

30.(D) =BT -2 =y

a®+b?

40. (D) = (=)= (@ + b)
= (375 + 225) = 600

w1 =55~ )
(153 1—153) = %

42.(C) 2a = 2 x 216 =432

2b =2 x 144 = 288
_ (at+b)2—(a— b)2 N

=2

a?+ b%4+2ab—a?-b2+2ab.

Zaxzb A\ . 4ab Pl
_ 4ab e o~ Y
" 4ab A W d .
5.47x5.47 — 453x4 53 5.47)2—(4.53)2 '
43. (B) 2 4759
0.94 0.94
_ (5.47-4.53)(547+4.53) _ 0.94x10 _ 10
- 0.94 T 094
0.3%*-0.2%
44. (A) 0.32+0.22
_(0.32+0.22) (0.32-0.2%)
0.3240.22
=0.32-0.22

=0.09 - 0.04 =0.05

45.(B) (8.75- 7.75F = (1)2=1 ,.
515.86x515.86-314.87x314. 87=" .
46. (D) ==t i
_ (515.86+314.87) (51586~ 314879 4 |
200.99 -

830.73%200.99
= e =1830.73
356X .356—2X 356X 106+ .106X .106

632X .632+2X 632X 368+ .368x .368
__(.356—.106)2

T (.632+.368)2
[(@ - b)2= a2+ b2 - 2ab, (a + b)? = a2 + b2 + 2ab]

= L2807 95)2=0.0625

= (1.000)2

48. (A) 1093 x 1093 = (1000 + 90 + 3)

47.(B)

x (1000 + 90 + 3)

= 1000000 + 90000 + 3000 + 90000 + 8100 +
270 + 3000 + 270+ 9
= 1194649

49. (C) i (3654)';—(3.46)2 — 40

__ (36.54+3.46)(36.54—3.46) 40

x
40><33.08
=———=140
%
33 08 40
x 40

x = 33.08

2.3x%2.3x2.3-1

50.(B) 7= ———__
(B) 2.3%x2.342.3+1

(2.3)°-1

= (2.3)2+2.3412
(2 3-1)[(2.3)2+42.3+12]
2: 3)2+2 34124
[+ a® — b¥={a? +b2+ab)(a—b)]

=23-1=x13

6.5%4.7+6,5X5.3 6.5 (4.74+5.3
51. (D) OB S e (- T,
1.3x7.9-1.3%6.9 1.3 (?.9—6.-9)
5x10 | —
= =50 ™

52. (C) 1.07 x 65 + 1.07 x 26 + 1.07 x 9 = 1.07 (65 +

26 + 9)
=107 % 100 = 107

69842x69842-30158x30158

: 69842-30158
ol (69842-30158)(69842+30158)

(69842—-30158)
[-@*-Db*=(a-D)(a+Db)
= (69842 + 30158) = 100000

(0.06)2+(0.47)>+(0.079)?

(0.006)24(0.047)2+(0.0079)2
(0 06)%+(0.47)%+(0.079)2

( ) {(0.06)2+(0.47)2+(0.079)2}
_W = (10)? = 100
10
D) V74 84 = /625
V7+84 =25
V7=25-84
V7 = =59 (T F7H T7)
? = (-59)2
= 3481

(69842)?-(30158)2
69842-30158

54. (C)
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56. (D)
189

1 35721
1 1

28 | 257
8 224

36 | x3321
3321

X XXX

=T = 189

2nd method

357 21

L% b

18 1 0r 9¢ i |

TN
18 x 19 = 342 < 357

o A = 189
57.(B) 60 84

4

7 2o0r8

7x8=56<60

58. (C) 161 29

12 3or7
12 x 13 = 156 < 161
A AT = 127
59.(D)2 10 25
U
1+1+1=3
60. (A) 96 04
i
1+1=2

61. (A) (16 ——) (16 + ) [-(a=-b)x(a+b)=
> 162 — (E) = 256 ——
255+ 1-==255+=
2 2
62.(C) (22-2)" +(22+2)
[ (@+b)?+(a-b)*=2(a%+b?]
=2 [222 % (;3)2]
=2 (484 +=) =968 + - = 968
63. (B) 6.8 + 0.68 + 0.068 = 7.548
64. (C) = V(25 x 6) - V(9 x 6) - (4 x 6)
=5V6-3V6-2V6
2=0 y
65. (A) V2 + VX =43, Sl
Vx = V342
Squanng bothmdes
x=(3Y + (-f) -2 %3 x~2
Xx=3+2-246
=15~ 2«/ 6

s :_66 (€) VT2 = 12

. vf.ooouom _ 0012

12 12
.0012 _ 10000

12 10000
12
12x10000 = 0.0001

D) v/0.059049 O 22 0945

10000[]0 1000

VOOT96 _, 0.14
K= —=0.7
0.2 0.2

70. (A) ¥12.96 + v0.1296 + /0.001296 +

v/0.00001296
=3.6 +.36 +.036 + .0036 = 3.9996
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1. (A) Va - = "’Exv,‘;f'l
5+2\f" 1

J5+2
4+2J‘ 44216

= zrsreas | iH3
_ 2V2(y2+V3)
S 22

72. (D) Y900 + 0.09 + 4/0.000000 =
0.003
= 30.303

73.(D) S+ 14=25
12 = 25 - 14 > 11

16? =121 1694

) _ () EHE) (“)I
N () )

a 1

{a®+ b2+ 2ab = (a + b)?}

30+0.300+

=1

: 13
1 1
=169 {— _,}
éﬁ +9 |
+161}*
=169 {—} &
144
_ 169x%25
? 169x25 13x5
12
5
= ﬁ
12 12

75. (A) V4a? + 4ab + b?
J(2a)?2 +2x2axb+b?

v (2a + b)?
(2a + b)

Wik _ W7XZ o
V343 VTXTX7 L ==
_ TxXNTxN2 = 2 S
77 A

3y121—y361

V52942436
_ Ix4/11%11—-4+/19%19

T J23%23+2V6%6
3%11-19

76. (D)

77. (D)

23+2X6
_33-19

23+12
14 2
:

0 081)<0 484 [81x484
0.0064x6.25 ] 64x625
_ 9x22

= = 0.99
8x25

79. (B) x2 - (78)? = 6460
X2 = 6460 + 6084 = 12544
x =112
80. (B) x x x = 28.09
x2 = (5.3)
x=5.3
81.(D) 2744 =7 x7x7x8
=TXTXTXx2%x2x2
ST =7x2=14
82. (A) X2 = (75.15)2 - (60.12)
X2 = (75.15 + 60.12) (75.15 - 60.12)
= 135.27 x 15.03
x2= 4500 x 4509 | |
X =4509 - i
83. (C) 362 = 1296
1300/~ 1296 = 4

| 84. (C) 2904 '= 112 23 x3

=2x3=6_
85. (B) & tri%rﬁwm = /7569 = 87

186.(C) (A) 41252 + 42

(B)13=22+32
(6) 23
(D) 37 =62 + 12
A FEAT 23 &1 A FT IR q51 2

| 87. (D) v& x 1= 0.005

Vx =0.015

x = 0.000225
(22 @E+3HE—3) _
w’ 2 (3 +1)(J‘ -1)

(4 3) 2 1
i __x_=_
3\3-1 3 2 3

89.(A)V24+~05+1+VIi8+06+6

88. (D) = : fzz'(“@)z]

3l(v3)2-12

=J24xé+1+\j18xi+6

=J24x1?°+1+\l13xm+6

=+48+1+/30+6
VA9 +36 =7 +6 =13
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S — e

e e o e —u.-.-_.__-_

) (/63 +v/252) x (/175 + v/28)
—(\/_+\/4><63)><(\/25><7+\/4><7)
=(W7x9+V4x9x7)x (V5 x5x7+

V2x2x7)
= (3V7 + 6V7) x (5v7 + 247)
=97 x 77 = 441
91. (C) 243
92. (B) 625
93. (D) 101 x 101 x 101 = 1030301
94. (D) .. 1 &ft = 10 fa=ft =,

. 20% T = 20° x 10
= 8000 x 10 = 80000 fareft +ft.. ©
95. (C) = (—28)% + (49) + (213
= -21952 + 117649 - 9261 = 564_36 |
_ s, ¢
=_28
b =49
c=-21
a+b+c=0
So, a® + b? + ¢ = 3abc
3 x 49 x -28 x -21 = 86436
96. (A) = (20)% + (—14)3 + (-6)3
= 8000 - 2744 — 216 = 5040
or
a=20
b=-14 N
855 W
a+b+c=0 ;
So, a® + b3 + ¢ = 3abc
3 x 14 x =6 x 20 = 5040
97. (C) 9T¥T %37 = X
(153)2 — x® = 1457
x® = (153)? — 1457
x® = 23409 — 1457
X3 = 21952

X =3/21952 = /28 x 28 x 28 = 28

98. (C) HTT H&=AT = X

(121)2 - x* = 8809

x3 = (121)? - 8809

x3 = 14641 — 8809

x* = 5832

. x=13/5832 =318 x18x 18 = 18
99. (B) 9% = 81

93 =729

T 121

113 = 1331

TraT AT aw =1

Hﬁﬂamﬂﬁ#aﬁ1mgﬁml
100. (B) -1 7T 1 Qﬁqcﬁm% me%w

%m%!
T AT =1 = (1) =

| 101. (B) waﬁ%waqh%n

9T FEqT = x’—x—

x3—x3

X

. =0
or
42=16
43= 64
64/16 =4
4-4=0
102. (D) x + x* = 1740
x (1 +x2) = 1740
X=12
12 x 145 = 1740
1740 = 1740
103. (A) (45)° - (41)?
= (45 — 41) {(45)? - (45)(41) + (41)2)
= 86 {2025 - 1845 + 1681}
=86 x 1861 = 1600046
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104. (D) (5.5)° - (4.5)°
= (5.5 - 4.5) {(5.5) + (5.5)(4.5) + (4.5)3
= 1{30.25 + 24.75 + 20.25} = 75.25

B) (2.5 - (1.5
= (2.5 - 1.5) {(2.5)2 + (2.5)(1.5) +
= 1{6.25 + 3.75 + 2.25} = 12.25

106. (B) [(0.111)3 + (0.222)3 — (0.333)3 +
(0.333)2 (0.222)]?

= [(0. 111)3 +8(0.111)3 — 27(0. 111)3 + 9 x
2(0.111)2%(0.11D)]?

= [-18(0.111)3 + 18(0.111)3] = 0

105. (
(1.5}

107.(C) 13+ 2% + ...+ 5% = 225
25 + 43 +———103 :
=28[13+ 23+ 453
=8 x 225 = 1800

108. (D) 1° + 23 + -+ 10° = 3025
25443 +-.20%
= 28[1% 4 23 Hoit 103]

= 8 x 3025 = 24200 . @

109. (A) 99 x 21 — 3/x = 1968.
2079 — x = 1968
Vx = 2079 — 1968 = 111
x = (111)3 = 1367631

110. (B) (.000729)3 = (729)

10
_f 9 = 9 9
(102x102x102) 102 T 100 .09
111. ( J333+\/987+ 32197
\/333 V987 E 13 4
V333 + 31000 = V333 + 10 = ,/343 =7
112. (D) 3/=2300 x /5290 = vV— 2300_><_ 5290
=3Y=23x100x529x 10
= 3/~23x 23 x 23 x 1000 = —23 x 10 =
—230
113.(B) = 1:’9 x Y125
22 5——x—><5_3= 1%
12 3512 8)(8}(8 3
114 \‘4E \,12 5x5x5 - 1E
115. (B) V000064 / = 103 =ﬁ= .008

=

Y/V/-000064 = ¥/.008 =

116. (C) 23/32 -3¥4 + V500

=2 x 323x4 -334+ V125 x 4
= 44 - 334 +5V4

= 6V4

3/74.088 + 3/0.074088 + 3/0.001764

42+ 42 +.042 = 5.04
V=216

117.(C)

V=27a4x
3|64
729

(—14)x(-6)
4
G)
-, (84x9)
4

=>’%ff= 189

119.(B) @+ b° + c> = Jabc =0
When (a ¥b+c)=0 >
Here,a=32, b=79, ¢=-111
a+b+c=382+79:111=0
5 (3P (9P (1) + 3 x 32 x 79 x 111 =
’ _

118. (C)

“120.(C) 4° =64

8264

| 121+ 3p D F 1= PP 3 T3P+ T

=3(P+1)° =(P+1)=100+1 =101

122.(C) 54925=5x5x 13 x 13 x 13

Least no. =5
123. (D) 491 + x = 8°
x =512 - 491 = 21
124.(B) 864 =3x3x3 x4 x4x2,
n=2
125. (D) 343 =7 x 7 x 7 (T &= 9 I = 721 21)
125=5x 5 x 5 (07 79 TT 07 a9 &t 81)
81=3x 3 x 3 x 3 (T ¥F TT I0 =7 a1 3
729=3 x 3 x 3 x 3 x 3 x 3 0T A UA U1 A 2|
126,49 (1-4) (1-3) (1-3) o (1-3)

—xZx=z )

T 27374107 10
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——
i >
=
| m
| m
| =
|
i
l

I
|
.I
}
=N

DEgeD, o my

24 35 48 80 63

-
N
-.,J
_—
w
e
ol B P
(=Y

I

| =
S—
X
e Y
=

|
|2
—
X
—
|

|

| w
—
X
Vo
(=Y

|
|+
—
X
.
=

|

Il
N
N
h|.

6 = BB b, O 08 08 B0, 60
X(l_Z) =273 15x25x35x49xa1xe4x100
—E E l Ox__lx__z =>—0 = 379 =—
= A rg%3" 4 4 B 64x5 20 . )
1 997
128. (C)( _E) (Z_E)(z __), (2 _E) 137.(C) (1 +5) (1 +§)(1 +Z) ...... (1 +ﬁ)
_ [(6-1) (10-3) (14-5 1998 -997 oy RS O
- (.. (o bpd s
L 1001 _ 1001 T o Qe SC O FUUR TR S )
3X5X 7% —993 —34 ] 207 30 427 5 72 % )
129. (D) 555=+ 555= + 555> + 555 + 5552 + =FT§5+2§+3%+%+9M
6 R o g PO, WO (i
555;=? > 1_4 110_ 1_ 120 1/1 1 1/1
1 2 3 4 5 6 ! — = == el N o]
= 555 X 6 + ("";"’?"’;"’?"’;)' Gt ..:'-] Ll 31(1 4)+ 14 7)+3(? 10)+3(10

[
-hwlv—k\"‘—'/wn-'\“‘—"’

= 3330 + ( )=> 3333

(625 x 5) + (?*EJ’IE*F*E)

= 3125+—= 3125 + 2¢= 3127

2

L

3
+ -
G-D+(-9+G-2)+ G-

D o

130. (B)

[y
w

.0 p ) -10-R Y.,
5{3;5:;13: _23}- .= zlx'.Elxﬁ _ 140. 408 = A3 5 108, 103
5{23 20 .f}'-_;?ixl?_xa ._ 141.(C) = (2- 1;1(2+1) (4 1)(4+1)+(5 1)(6+1)+
§{Z_OZB=?><'ZF1X-%_01 ; & _ \ i . 1)(20+1) V]
X2~ %5 Xa v T e
L =7 =X = oty Sppd it Drg it T
3w 5 60 _2_-1. 3)+2(3 5) 2(5 7)+ ¥
-2 pe2 )
2200 (1D (DY -2) QN T
==X =X=X . ——=— ! . 142 (B) ( )+ 1_1)4_(1_1)4_(1_
133.(C) [j+lsi25 E | 1 2_ay = C T
1x2 2;<3 3;(4 ; 9x110 g I '5')+ (H_E)
~U-2 +(5‘§)+(;jz)+(zf;)-+ + =(1-%)=3
Ty - T 4 143.(A) (1+3) (143) (143) o (14 )
=1_%=%=0'9 T .
134.8) gt et tpt i 144 (D)i+ls+i+ L
"3 5 7 9 19 2x4 | 4%6 ' 6X8 4850
_m+m+9x1a+16x25+m+81x100 =i %+%+112+ --+24)1<25]
=1 oXoHgo
. e T )
L Ll 002
<y 5. D)1+ =Lt T+ (1 F—
135. (B) (1_1) (1_1) (1 _l) ______ (1_i) x+1 x+2 x+3
P PN e - E ey T
(2x4) 8
136.(C) (1-%)(1-5)(1-%) - (1-5) (1-=) | 146:C) @)*+ () = %—5?=§—5=53=125
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147. (A) {(—2)('2)}(_2) = (-2)* =16
148. (D) 2715 x 9125 + 35 = 3"
345 325 . 35 s 3n
3? 35 = 3N
3 =31 =n=2
L (E)H = (z)( X
2\* 2y (=
G =6
X+1=-x+1
2x=0 =x=0
9Mx 355273
150, (C) 22 = 3°
32mx35x39 _ 9

3x316
31%+2m

317
314+2m — 326

14 +2m =26 _
2m =12 =$ m = 6

151. (B) 62 x 36 ><3024><2513—305

367 = 30%, P 30%0
61-2%302- 4)@51 3 7 gl2yg2e

52 6X626 1.4

612x526 =6

62% = gl4

2x=14 =% =07
152.(C) V57 =5

B 52

n=2

153.(A) 2* =4Y*1 = x =2y + 2

X = 16‘ y =7 ' I -.
C) V3™ = V6561 —-

3" = 6561
P=3

xyz—%x . x%:
1500 = Q< (3= )"
=z} =)
>2x+3=15
=>2x=12
>Xx=6
157.(C) 35+ —3¥ =38 =32 _.{})
A% C;
(2, 1) x F /9 FT THFI (i) F 7@ T,

32><2+1 32 32+3 32
F—FF= -3¢
3% = 3 (Satisfy)
o
@)-8 = (%)—3m+1 _
-3m#+1==8
_ 3.r'h-=F_—§T‘ ', o m=3
1 J

1583D) Z= 75357 %

73

ODIH

~2008 2008
(160 (0) (Gome)? ™" x (3eze) " x 2020
- 2000 2008 2020 2008
: (2{120) (m) x 2020

. =1x2020=2020

161.(B) (3¥)(3”) = 9 and (25%)(5") = 625
R)**r=9
X =2 3T y=0

162. (C) 4775 + 473/2 x 4773 = (m)’
47(75=15) 3¢ 47-3 = (m)?
475 x 4773 = (m)"

73 = (VA7)

?2=6

163. (A) 2538 x 542 + 564 — 5%
5255 X 516 + 5o = 25%
5%x5%+5%=25x
570 — g2x
x=27
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x — g¥y+1 ¥y — 2x-9 (5+2v3)x(7-4V3) _
164. (D) 2 4 and 3 3 G E) a+ b3

2% = PRV 35+14Y3-20y3-24 _ a+by3
X=2y+2 =4 " 29\/%3 iy

= =a+
A=Y=y a=11,b=-6
=y+9 A
X :'k . @ 175. (A) R &- 2V1T, 43, 35,5v2
1 2 1 1 1 1
M @ 2%x11z,4 % 32,3 x 52,5 x 22
2y+2=y+9

T T 2 | O F79 97
2 % 11372, 4 x 3%2,3 % 522, 5 x 25*2
2% 11, 4% 3, 3%5, 5%2

y=7,x=16
185.(C) 9% =319

Lol A VDY 22,12, 15, 10
* . o 29070 FEIE W & = 10, 12, 15, 22
29— ; =
168. (C) (6)\[_ + (8)\’r— — (10)4~ _ . (i) 176. (B) V32-V18 _ V2xZX2x2x2~\3x3x2
B2+ 82=102 L (il Js:o\;-_q_’iv(_ -~ VEXEXZH2X2x2
W 5V2+242
T‘d’r(u)na‘ﬁ(u)ﬁgm‘ra?@rw _ ey
Ve=2 @ S ~ Va2
x=24= 16 -- "9 Wi =1 &
169, (A) — 5+ — ¥ 1, N | 17 THE = EEEVTHE
(216)3  (256) % (32)S $ . Vi—Vs  (V7-V5)(V7+v5)
-1+ 1(_5)4. - o _ (V7+5)° _, 745+2/35
ep @ oF L el W,
= 3 = == MW, ==V 5
e Rwrc Aevc R REE A AN N
=(62+4°+2") = (36 +64 + 2) =102 V. . N
170. (A) 0.2 C | 178(C) . |2 [22V2V2 ..... = 2(75")
(=0.2)2 = 0.04 L W B w g

(-0.2)* = -0.008

(-02)=00016 | A7\ 179.(8) - [22V2Vz .. -2

AT HAH GrETHNME L .

=(=0.2) =21 = Z(E

= L s

171.(D) V1350 = V5 X5X3x3 X 6 180.(C) 22 =222

=3 x5V6 = 156 =2 5250272
V3 V3 1732 =

172.(C) 2 x 2= 4 1% _ g 577 VE 3447 _ 3y5HyI0
CE*nw=327 181.-0) 25 % 6o = w2y

175l e 1O T

342 32'(‘/5)2 7 _3\/'+\/_=>3\/'+\/_

=3-1.4142 > 1.5858 182. (B) S54T (4+D(W =1)
5+2v3 _ ' VZFL 2-1
174.0) soz=a+ b3 _ 4@—4:2-@ — 3T -2
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S e

e e o e —u.-.-_.__-_

VE+1 (vﬁ+1)2 _ 5+1+2/5
18340 Vs-1_ (Ve-1)(¥5+1)  5-1
= BH2E 345
4 2

184.(D) 12=3x 4

Sign is +, so

J12+ 12+Vi2+-=4
185.(C) 6=2x3

Sign is +, so

J6+\/6+\/m=3

3 1-3
186. (A) %"&%;
_ (13 +(1-V3)
o 1+3+23’§_f1+3—2v'§
=g
= % =-4
3+y5 . 3—VE . Vi1
3v"+3+\a"+\F+1
_ G+B)EREHE-E)3-E) | ¥5-1.
(3-VB)(3+V5) VE+1!
4 (6=28)
4

_17-4/5

187. (A)

2
2+y5 | 2—+5  5-1
188.(B) 2—/5 ¥ 2445 VB+1

_ +/5)(2+VE)(2—VE)(2-18) , ¥E-1
- (24v5)(2-V5) V5+1
_ 4+5+4+5  5-1
T a5 ﬁ

_-18+v’_+1
—-18+

\f__
\/'+1 VE-1
Bv’_

=-18+

T htd

2
3.2 443 6

V63 6—Z VB2
V&6 26 3

189. (C)

4v’§+5ﬁx4v’§—3v’§
43+3v2 T 443-342
16X3—12v/6+20/6—15%2
16x3—12v6+121/6-18
48-30+8V6 _ 18+8V6
48-18 30

LI W3, s

=a+ b/6 = o
a=—3‘b—15@11T|
191.(B) 56 =7 x 8
Sign is +, so
x=8
192.(B) V8 —2vV15=v5+3 -2 x5 x 3

- (5)" + (B 2 x B x 3

= J(V5- f)—(x/' \/"3)

194(8) 4 N

x® = dx =>x—=4

195. (D) Jx+4Jx+4\/x+4\ix+4

V-1 V-1 V23 I S T X
= Yz 2Rlon) S0 x2 = x+ 4J X+ 4fx+ H
=23 +6 — 3J‘ «/‘+3«/'+3~/' " X2 = X + 4X
=53 =bx=>x=5
190. (D)ji;_ii a+ b6 -
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